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QUESTION 1

Given the code fragment: 

What is the result? 

A. 1 

B. 3 
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C. 5 

D. Nothing is printed. 

Correct Answer: C 

 

 

QUESTION 2

You have been asked to develop a Java program that prints the elements of an array in reverse order. 

Which looping statement cannot be used to meet the requirement? 

A. enhanced for 

B. standard for 

C. while 

D. do-while 

Correct Answer: D 

Reference: https://www.javatpoint.com/java-program-to-print-the-elements-of-an-array-in-reverse-order 

 

QUESTION 3

Given: 

What is the result? 

A. The program compiles and nothing is printed. 

B. Iteration plus an increasing number is printed 100 times. 

C. Iteration plus an increasing number is printed 99 times. 

D. An error occurs during compilation. 

Correct Answer: D 
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QUESTION 4

Given: 

And the code fragment: 

What is the result? 

A. A compilation error occurs at line n1. 

B. White : null 

C. null: null 

D. White : White 

Correct Answer: C 

 

QUESTION 5

You have a microprocessor board, such as Raspberry PI, wired to control a drone. 

Which edition of Java is geared towards use of simple, closed systems with constrained memory requirements, such as
a microprocessor board? 

A. Java Micro Edition 

B. Java Standard Edition with a Compact Profile 

C. Java Enterprise Edition 

D. Java SE Embedded 

Correct Answer: D 

Reference: https://www.oracle.com/technical-resources/articles/java/raspberrypi.html 
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